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Autumn 2017 Paper 1 Q10

1
1 (a) Write down the value of 100 ?

2

(b) Find the value of 125°

(Total for Question 1 is 3 marks)




www.yesterdaysmathsexam.com

( )
Autumn 2017 Paper 2 Q6

2 pxpt=p’
(a) Find the value of x.

X T L
1)
(72)y — 710
(b) Find the value of y.
V=
1)
100 x 1000 can be written in the form 10"
(c) Show that w =2a + 3b
2)

(Total for Question 2 is 4 marks)
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1

(a) Find the value of 8] 2

2 2

; 64 \3
(b) Find the value of (—)
125

(Total for Question 3 is 4 marks)
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Summer 2017 Paper 2 Q18

3
4

1
4 165 x2°=38

Work out the exact value of x.

(Total for Question 4 is 3 marks)
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5 (a) Write down the value of 36 :

1

(b) Write down the value of 23°

2

(c) Work out the value of 27 °

~\
Summer 2018 Paper 1 Q9

(Total for Question 5 is 4 marks)
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6 ( ) Si lfy 35 m Summer 2018 Paper 2 Q1
a) Simpli m X m
e))
(b) Simplify (5np?)*
()
32 9 4
() Simplify —L
4q°r
(2)

(Total for Question 6 is 5 marks)
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Summer 2019 Paper 3 Q12

1
7 Patrick has to work out the exact value of 64 4

Patrick says,
1
“% of 64 is 16 so 644 =167

Explain what is wrong with what Patrick says.

(Total for Question 7 is 1 mark)
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8 (a) Find the value of /81 x 108

1

(b) Find the value of 64 2

(c) Write

n

97’1—1

as a power of 3

~

Summer 2020 Paper 1 Q11

(Total for Question 8 is 6 marks)
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Summer 2020 Paper 2 Q10

0
9 (a) Simplify (L)
m2

1)
o 8(x —4)
(b) Simplify x—a)
............................ (1)
(c) Simplify (3n*w?)?
............................ (2)

(Total for Question 9 is 4 marks)
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10 (a) Slmphfy nxnd Summer 2020 Paper 3 Q1
Q)
344
Simplify <4
plify 2
(2)
5x
Solve —>7
olve >
(2)

(Total for Question 10 is 5 marks)
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11 (a) Write down the value of 7°

(b) Find the value of 3 x 36x3°

(¢) Find the value of 2

(d) Find the value of 27

W | —

~
Summer 2021 Paper 1 Q9

(Total for Question 11 is 4 marks)
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1 Summer 2021 Paper 3 Q12

12 (ax®)n = 7x°

Work out the value of a and the value of »n.

(Total for Question 12 is 2 marks)
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13 Work out the value of

37 x 372

33

Autumn 2018 Paper 1 Q1

(Total for Question 13 is 2 marks)

N\
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Autumn 2018 Paper 1 Q14

3

14 (a) Work out the value of (5)4

(2)
1 b 1
3= — 3" =943 3= —
9 V3 NG
(b) Work out the value of a+ b+ ¢
(2)

(Total for Question 14 is 4 marks)
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Autumn 2019 Paper 1 Q7

15 (a) Simplify (p?)°

(b) Simplify 12x7y* = 6x°y

(Total for Question 15 is 3 marks)
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Autumn 2019 Paper 1 Q19

_1 1
16 Given that 9 ? =274 + 3!
find the exact value of x.

(Total for Question 16 is 3 marks)
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Autumn 2022 Paper 1 O3

17 Simplify (27 x 2%y

Give your answer as a power of 2

(Total for Question 17 is 2 marks)
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Autumn 2022 Paper 1 Q17

4

8 \3
18 Work out the value of (2—7)

(Total for Question 18 is 2 marks)
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19 (a) Simplify fully (3x%°)*

(b) Expand and simplify (x + 2)(x — 3)(x + 4)

N
Autumn 2022 Paper 3 Q14

(Total for Question 19 is 5 marks)
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Summer 2022 Paper 1 Q18

[55) [+
20 Work out the value of 9 = 3

You must show all your working.

(Total for Question 20 is 4 marks)
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21 (a) Express 109 < 10°

as a power of 10

Liam was asked to express (12°°)* as a power of 12
Liam wrote (1250)2 = 1250 = 22500
Liam’s method is wrong.

(b) Explain why.

Summer 2022 Paper 3 09

(Total for Question 21 is 4 marks)




